Ch Xapakrepuctuku 3D-duryp (Word) Umst:

Pemnre Kaxayro 3aaaudy. OTBeTHI
1) How many nuia does a npsmoyrosbsHas nupamuaa have?
1.
2) How many auna does a TpeyroibHas npuzma have?
2.
3) How many kpas does a npsMoyrosbHas nupamuaa have? 3
4) How many kpas does a TpeyroibHas rnpusma have? 4.
5) How many auua does a npsmoyronsHas npu3Ma have? 5.
6) How many kpas does a npsmoyrosnsHas nupamuaa have? 6.
7.
7) How many suna does a ky6 have?
8.
8) How many nuna does a cdepa have?
9.
9) How many kpas does a npsiMoyrosbHas npusMa have?
10.
10) How many Bepumnsl does a TpeyronbHas npusMa have?
11.
11) How many kpas does a cdepa have? b
12) How many nmia does a npsmoyrosisHas nupamua have? 13
13) How many Bepiunbl does a mpsAMOyroJbHas mupamua have? 14.
14) How many Bepiuuns does a cpepa have? 15.
16.
15) How many Bepmmnbl does a npsMoyrosbHas npusMa have?
17.
16) How many Bepmmnbl does a npsMoyroyibHas nupamuaa have?
18.
17) How many Bepumnsl does a ky0 have?
18) How many kpas does a ky6 have?
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XapaKTepHCTHKI/I 3D—(1)I/Iryp (WOI’d) Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
Pemnre Kaxayro 3aaaudy. OTBeTHI
1) How many nuna does a npsMoyronbHas nupamuaa have? 5
1.
2) How many auna does a TpeyroibHas npuzma have? 5
2.
3) How many kpas does a npsMoyrosbHas nupamuaa have? 3 6
4) How many kpas does a TpeyroibHas rnpusma have? 4. 9
5) How many auua does a npsmoyronsHas npu3Ma have? 5. 6
6. 8
6) How many kpas does a npsmoyrosnsHas nupamuaa have?
7. 6
7) How many suna does a ky6 have?
8. 1
8) How many nuua does a chepa have?
9. 12
9) How many kpas does a npsiMoyrosbHas npusMa have?
10. 6
10) How many Bepumnsl does a TpeyronbHas npusMa have? 0
11.
11) How many kpas does a cdepa have? b 4
12) How many muua does a npsaMoyronsHas nupamuaa have? 13 4
13) How many Bepiunbl does a mpsAMOyroJbHas mupamua have? 14. 0
14) How many Bepumnsl does a cepa have? 15. 8
16. 5
15) How many Bepmmnbl does a npsMoyrosbHas npusMa have?
17. 8
16) How many Bepiuunsl does a npsMoyroybHas nupamuaa have?
18. 12
17) How many Bepumnsl does a ky0 have?
18) How many kpas does a ky6 have?
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